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B sz BRE S ouT IN GROSS | HDCP NET
6| = 47 39 86/ 23.0/ 63.0
261 B =5 43 41 84/ 21.0| 63.0
M| TR R 46 44 90| 24.00 66.0
M H#E ERR X 44 43 87 23.00 64.0
5 dtEF FE 41 44 85 19.0/ 66.0
66| H)Il FHZ 45 43 88 21.0 67.0
JATAE={" S 2=t 52 46 98| 30.0f 68.0
8fI kA IEH 43 41 84 16.0/ 68.0
O &R A 46 46 92 240/ 68.0

1061 B 28 41 42 83 15.0/ 68.0
nez|EA —& 43 45 88 19.0/ 69.0
1241 zEfE RS 54 49 103 33.0f 70.0
13Gz|1BE EBE 44 44 88 18.00 70.0
1461 TRk £ 46 47 93| 23.00 70.0
15|18 R BH 417 45 92/ 21.0/ 71.0
1662| KPE 177K 43 44 87 16.00 71.0
176 1ER 8 50 49 99| 27.00 72.0
18 &8 — 51 52 103  31.0f 72.0
196z | HAX HE 46 51 97 25.00 720
2001 A =XHE& 46 47 93| 20.00 73.0
VARVAE =S RV S 47 51 98| 25.00 73.0
224z | ILdw  IETR 45 44 89 15.00 74.0
261 BF EA 52 52 104/ 30.0f 74.0
280 | RIR R1B 45 45 90 16.0/ 74.0
25 BA A 48 50 98| 24.00 74.0
260 |H@iE 1F 49 45 94 19.00 75.0
27 |k fkE R 49 53 102 27.0f 75.0
28fi I8 XK 46 50 96| 21.0/ 75.0
291 |1BH BE 44 49 93 18.00 75.0
3061 | FFH f2— 47 44 91 15.0/ 76.0
L | KiE & 46 47 93 17.0/ 76.0
KYA A 7 N 44 47 91 15.0/ 76.0
33| BER L 44 49 93 17.0/ 76.0
A AX 49 47 96 19.00  71.0
35| HR XER 47 46 93 16.0/ 77.0
36 HEH —FE 47 46 93 16.0/ 77.0
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312 B E % out IN GROSS | HDCP NET
37467 %A #EEH 49 50 99 22.0 11.0
BhI A BR 46 48 94 17.0 11.0
394z | %P 1EA 46 50 96 19.0 11.0
4043z |HHK  EAAR 47 52 99 22.0 11.0
ML RETIT B 51 43 94 16.0 18.0
261 T EE 50 48 98 20.0 18.0
4361|580 RB 42 51 93 15.0 18.0
4461 BEAR Ak 42 52 94 16.0 78.0
4541 REEF F3F 49 54 103 24.0 79.0
A6 == ki 51 50 101 21.0 80.0
4161 A8 B 52 47 99 18.0 81.0
4861 K1 E 53 50 103 22.0 81.0
4961 B R X 49 49 98 17.0 81.0
5061 BN RH& 99 48 107 25.0 82.0
514 [EIR HE 56 51 107 25.0 82.0
52 | luO0  1#7F] 45 56 101 19.0 82.0
534L R EEK 50 54 104 20.0 84.0
SA4SL | /NFE B 52 55 107 22.0 85.0
S5 | E#F = 45 58 103 17.0 86.0
5661 LA BX 95 59 114 21.0 93.0
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